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import sys

sys.path.append("statlib")

from univ import fit_normal}

fit_normal(f, 1, w, accuracy=0, method="density", plot=True, xlab="x", ylab="f(x)",
title = "distribution of the data", color="lightblue",

edgecolor="green", colorl="blue", color2="red")}

2.1 5I¥
f BEBOARFEN 7 P
1 B/AND BERR D T BRAE
W P b
accuracy HIEREE (77408 0)
method MTIEDAE (77 4V Mk "density”, BliLiE "area"
plot KMDFER (F7 4V bid True), FR L%\ S False)
xlab xWhZ7 v (77 40 ")
ylab Y#i7 L (F740 ik "£x)")
title 54+ (77 %)L biE "distribution of the data")
color EANTZ L6008 (7740 L "lightblue")
edgecolor EA 77 LDPDE (77 4 )L b iE "green")
colorl PR IERL AR O (77 4V b i "blue™)
color2 Wit Z R~ TRt (77 40 Fid "red")
verbose WEFNRO 7Y v PR T 5 (77 4V B True)
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"method" Wz DI
"n" B INHAR
"mean" fEE I N PiE
"sd" HEE S N7 P 72
"table" FEHR O
3 {ERH
f = [4, 19, 86, 177, 105, 33, 2]

import sys
sys.path.append("statlib")
from univ import fit_normal

a = fit_normal(f, 40, 5, method="area")
mean = 57.9812 s.d. = 5.13351

X f z p e
® 37.5 ® -3.502714 0.000230 0.098096
1 42.5 4 -2.528722 0.005494 2.340301
2 47.5 19 -1.554729 0.054281 23.123842
3 52.5 86 -0.580737 0.220704 94.019709
4 57.5 177 0.393255 0.372226 158.568133
5 62.5 105 1.367247 0.261292 111.310243
6 67.5 33 2.341240 0.076164 32.445853
7 72.5 3.315232 0.009152 3.898785
8 77.5 ® 4.289224 0.000458 0.195038
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distribution of the data
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b = fit_normal(f, 40, 5, method="density")
mean = 57.9812 s.d. = 5.13351
X f Z p e
0 37.5 ® -3.989710 0.000136 0.057859
1 42.5 4 -3.015718 0.004117 1.753952
2 47.5 19 -2.041726 0.048334  20.590446
3 52.5 86 -1.067733 0.219738 93.608546
4 57.5 177 -0.093741 0.386863 164.803727
5 62.5 105 0.880251 0.263761 112.362224
6 67.5 33 1.854244 0.069641 29.667120
7 72.5 2 2.828236 0.007121 3.033418
8 77.5 ® 3.802228 0.000282 0.120113
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distribution of the data
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